
Parts Breakdown
Model DW-CN-0025-L 41868



Parts Breakdown
Model DW-CN-0025-L 41868

Item No. Description Position Item No. Description Position Item No. Description Position

69075 Glass Bracket for 41868 1 69081 Stainless Steel Flat Washer 6x16x1 for 
41868 15 78121 Plug-Type Fixer for 41868 29

78072 Curved Glass for 41868 2 69082 T-Type Washer M6 for 41868 16 60214 Power Line for 41868 30

78036 Door Hinge for 41868 3 69083 Screw M6x15 for 41868 17 79291 Wire Clip for 41868 31

78110 Door Glass for 41868 4 69084 Screw M6x20 for 41868 18 30597 Switch for 41868 32

78035 Handle for 41868 5 69085 Middle Panel for 41868 19 60218 Indicator Light for 41868 33

78034 Nail for Glass for 41868 6 78080 Baseboard Hanger for 41868 20 78061 Probe Pressing Plate for 41868 34, 38

78077 Shelf for 41868 7 78081 Front Panel for 41868 21 60181 Adjustable Feet for 41868 35

60735 Water Receiver for 41868 8 60738 Heating Element for 41868 22 71661 Control 150°C for 41868 36

78079 Side Glass for 41868 9 78043 Heating Element Frame 2 for 41868 23, 43 71662 Control 125°C for 41868 37

69077 T-Type Washer M5 for 41868 10 78083 Rear Panel for 41868 24 78097 Baffle for 41868 39

69078 Washer M5 for 41868 11 69087 Right Panel for 41868 25 78098 Drawer for 41868 40

69079 Stainless Steel Screws for 41868 12 78056 Cable Clip Fixer for 41868 26 69088 Side Glass for 41868 41

69080 Nut M6x15 for 41868 13 61246 Wire Clip Holder for 41868 27 69089 Panel Bracket for 41868 42

60198 Vibration Absorbing Gasket for 41868 14 61245 Wire Clip Cover for 41868 28 69090 Right Panel for 41868 44


